
(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[0
]+

B
B

.t
p

.e
.L

T
[0

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.4

39
12

3)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

e_ct_withnewoffset_choice_1_0

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
]+

B
B

.t
p

.e
.L

T
[1

])
 -

 0
.5

*D
B

B
.l1

a[
0]

--
0.

49
07

66
)

120

125

130

135

140

145

150

155

160

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

e_ct_withnewoffset_choice_1_1

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[2
]+

B
B

.t
p

.e
.L

T
[2

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.0

16
31

1)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

e_ct_withnewoffset_choice_1_2

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[3
]+

B
B

.t
p

.e
.L

T
[3

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.6

39
98

4)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

e_ct_withnewoffset_choice_1_3

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[4
]+

B
B

.t
p

.e
.L

T
[4

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.1

31
21

4)

120

125

130

135

140

145

150

155

160

0

1

2

3

4

5

6

7

8

9

e_ct_withnewoffset_choice_1_4

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[5
]+

B
B

.t
p

.e
.L

T
[5

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.1

04
26

1)

120

125

130

135

140

145

150

155

160

0

10

20

30

40

50

60

e_ct_withnewoffset_choice_1_5

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[6
]+

B
B

.t
p

.e
.L

T
[6

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.1

18
30

9)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

120

140

e_ct_withnewoffset_choice_1_6

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[7
]+

B
B

.t
p

.e
.L

T
[7

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.1

28
89

7)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

120

e_ct_withnewoffset_choice_1_7

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[8
]+

B
B

.t
p

.e
.L

T
[8

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.0

26
71

0)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

120

e_ct_withnewoffset_choice_1_8

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[9
]+

B
B

.t
p

.e
.L

T
[9

])
 -

 0
.5

*D
B

B
.l1

a[
0]

-0
.0

69
49

9)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

e_ct_withnewoffset_choice_1_9

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
0]

+B
B

.t
p

.e
.L

T
[1

0]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.1
24

86
0)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

120

e_ct_withnewoffset_choice_1_10

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
1]

+B
B

.t
p

.e
.L

T
[1

1]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
06

79
7)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

e_ct_withnewoffset_choice_1_11

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
2]

+B
B

.t
p

.e
.L

T
[1

2]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
82

43
2)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

e_ct_withnewoffset_choice_1_12

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
3]

+B
B

.t
p

.e
.L

T
[1

3]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
16

06
6)

120

125

130

135

140

145

150

155

160

0

20

40

60

80

100

e_ct_withnewoffset_choice_1_13

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
4]

+B
B

.t
p

.e
.L

T
[1

4]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
27

16
4)

120

125

130

135

140

145

150

155

160

0

10

20

30

40

50

60

70

80

90

e_ct_withnewoffset_choice_1_14

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
5]

+B
B

.t
p

.e
.L

T
[1

5]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.1
14

82
3)

120

125

130

135

140

145

150

155

160

0

10

20

30

40

50

60

70

e_ct_withnewoffset_choice_1_15

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
6]

+B
B

.t
p

.e
.L

T
[1

6]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
--

0.
04

81
97

)

120

125

130

135

140

145

150

155

160

0

5

10

15

20

25

e_ct_withnewoffset_choice_1_16

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
7]

+B
B

.t
p

.e
.L

T
[1

7]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

1

2

3

4

5

6

7

e_ct_withnewoffset_choice_1_17

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
8]

+B
B

.t
p

.e
.L

T
[1

8]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

1

2

3

4

5

6

e_ct_withnewoffset_choice_1_18

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[1
9]

+B
B

.t
p

.e
.L

T
[1

9]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

1

2

3

4

5

6

e_ct_withnewoffset_choice_1_19

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[2
0]

+B
B

.t
p

.e
.L

T
[2

0]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

e_ct_withnewoffset_choice_1_20

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[2
1]

+B
B

.t
p

.e
.L

T
[2

1]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

e_ct_withnewoffset_choice_1_21

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[2
2]

+B
B

.t
p

.e
.L

T
[2

2]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

3.5

4

e_ct_withnewoffset_choice_1_22

(BB.tr.pathl[0]+BB.tp.trpath[0])/(0.3)*sqrt(1+0.880351/(BB.gold.p*BB.gold.p))
20 22 24 26 28 30 32 34 36 38 40

(L
.s

2.
ti

m
e[

L
.s

2.
tr

p
ad

[0
]]

*1
0^

9+
D

B
B

.l1
a_

L
[0

]*
0.

5-
(L

.t
r.

p
at

h
l[

0]
+L

.s
2.

tr
p

at
h

[0
])

/(
0.

3)
)-

(0
.5

*(
B

B
.t

p
.e

.R
T

[2
3]

+B
B

.t
p

.e
.L

T
[2

3]
) 

- 
0.

5*
D

B
B

.l1
a[

0]
-0

.0
00

00
0)

120

125

130

135

140

145

150

155

160

0

0.5

1

1.5

2

2.5

3

3.5

4

e_ct_withnewoffset_choice_1_23


